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(I ke 008 0.08 0.10 21 |Gk 008 0.09 0.14
AREEILEAD BEEREOR

2 BT 008 0.09 0.16 22 ik 008 0.10 0.14

3 |dePaRsEEK 0.07 0.07 0.06 23 |BREhR 0.07 0.07 008

4 |ABEREA 0.07 008 013 24 |1ms Re2E 0.05 005 0.06
REET

5 |ZB=VELT 0.07 0.07 008 25 |4 2E= 0.06 0.06 0.06

6 |HE=mEE 0.10 0.14 021 26 |BERBEFET 0.07 0.09 012

7 |EeEmET 0.10 013 055 27 |BEHEKE (FE) 0.07 0.11 0.16

8 |ErasnaE 0.06 0.06 007 28 |BLEHIKE () 0.07 0.10 021

9 |ExRIBUOSLT 0.08 013 0.21 29 |BEHEKE (E) 0.06 0.10 0.14

10 |24zE 0.06 005 0.06 30 |ZTLEENS 0.06 0.06 0.06

*;Fﬂ(l%

1 |EsEAeE 0.07 0.07 0.07 31

12 |ABE/MBUOSLT 0.06 007 015 32

13 |RaPaRsEIE 0.06 0.06 0.05 33

14 |{AEEERET 0.07 008 0.24 34

15 |15 0.10 0.09 0.12 35

16 |EEAS RS 0.09 013 0.20 36

17 (M= BFRET 008 008 0.11 37

18 |gkiERs S 0.14 0.20 032 38

19 [BYERTHHEET 0.10 0.12 0.20 39

20 |ET=wiEE 0.09 0.10 0.14 40
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